
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

1, 922 × ________ = 19.22 9, 516 × ________ = 9516

4, 197 × ________ = 4197 8, 966 × ________ = 896.6

6, 843 × ________ = 684.3 7, 834 × ________ = 783.4

5, 699 × ________ = 56.99 7, 589 × ________ = 75.89

7, 629 × ________ = 76.29 10, 552 × ________ = 105.52

9, 418 × ________ = 9418 5, 947 × ________ = 594.7

8, 516 × ________ = 8516 8, 443 × ________ = 8443

5, 443 × ________ = 54.43 3, 332 × ________ = 33.32

6, 896 × ________ = 689.6 1, 168 × ________ = 1168

2, 216 × ________ = 2216 2, 961 × ________ = 296.1
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